KERIZN 347, RKRELE HiE #E AITRIR

BT BRE ST

1 ODO $Eir: 18 AD LHLAH=AE, & EH, W L AHE=45° , . ZHED= /HDE=22.5° , W HE=
HD. X't HE=HD>AE, H@ASIER. X Siaco = Sarep > Sacep » WO IET.

5l 2 8~ (DIEK DUAE CET N, 3% DF, NF, SSiEBHAADME /\ENM, FiERH A\ CDFe /\ENF15 FD=FN,

ZDFN= Z CFE=90° , & MDL MF B. MD=MF.

(2) ZEK DU E N, 8 D=y, & FD, FVN, ZeiEIAADM2 /NENI, 15 AD=FEN, / MAD= /MEN, W AD//
EN. 3K EN, DCAETF S, W LADC= £ CSN=90° . FEVWUILIE FCSEH, L FCS+ £ FEN=180° , X'/

FCSH £ FCD=180° , #ft £ FEN= ~/ FCD, TEUF/ACDF2/NENF. .. (1) R 458 plioT..

B3 ¥Eon: EK BCESE H, 6153 CH=AE, Y45 DE, DF, W Rt/\DAELRtADCHAE, DE=DH, TiHEIF

N DEFL /N\DFH, Rt/N\DGEL Rt DCH.

%4 W AG=a, BG=b, AE=x, ED=y, N

a+b=x+y,@©
y A E b
2ax=by. @ /
/
6 P H
MG a—x=y—b, T a2—2ax+2=y2—2by+12. /
/
/
L_ _
FBOMRNE a2—2ax+ x2=y2—4ax+ b2, M B F C

So(atx)2=02+y2, 13 atx=.b*+y*.

B2+ y2=CH.H+ CR2=FI2,

Soatx=FH, Bl DI+ BF=FH.

SEK: CBE M, A BU=DH, ESE AN, B RtAABULRtNADH, 13 AN=AH, ~ MAB= £ HAD.
<o L MAH= / MAB+ £ BAH= / BAH+ ~ HAD=90°

FHAEAAMFR NAHF. .. £ MAF= £ HAF.

BY ~ HAF= % £ MAH=45°



KERIZN 347, RKRELE HiE #E AITRIR

w5 (WK, &K DES A, 6 DE=BE &4 AE, WA ADE<L /N\ABE.

MIfT, L DAE= / BAE, AE=AE, T & /FEAE=90° .

TENAEF MINABF Y, EF= BE+ DF=EL D+ DF=E1F, W AAEFL2 NAEF.

1
WL EAF= LEAR= 2 LB =45 . M1_-75
- |

A -7 \\l D

Q) W, 1t Ak EE— 55 a0, {$15 A= AM, ZEZE MD, MN. N
N F
M
NABL N ADM, N\ ANML N\ ANM
W £ ABW= ~ ADM, BM=DM,, MN=IMN. B E C
NDM=90° , MM MN=MDT+ NI, = MN2=Bit+ DV.
%16 (1) B DN= MV F&OT..
WK a, EAAND G5 AR EFiEs 90° , BRIAABE, B B. M= 352k, WA DANG A\ BAE,
SAE=AN, L EAM= £ NAM=A45° , AN=AM, 1BNAEML NANY, . ME= M.
.. . A D A D
. ME= BE+ BW= DN+ BM, .. DN+ BI= V. ) -
/I N N
/
(2) DN— BI= M. / A
/
/
Kla 3[o)

AR OA GV EKEE T IETT ALK 2 i
@EF2=BE2+ DF2;

@NAEN, NAFMENEREE A =M
@ Saawn = 2Saar
4 %
1. 75° 2. ® 3.? 4. 32 5. 6. B 7.B 8.8

9. #R: AABE2ADCE, NADF2 N\ CDF, WM / ABE+ / BAF=90° .

10. #r: WK CEX DAMIERKLZ T 6, EMH FG=FC.



KERIZN 347, RKRELE HiE #E AITRIR

11. $&/R: & PC, W PC=FF.

1
12. () ZEK DuAZ EFET N, BAADM2 NENH, 15 DH=NM, MF= 2 DN, FD=FN, % MDL MF, H. MD=MF.

(2) SEK: DUAE CET N, ¥ELE DF, FN, JGiEB AADMR2 N ENY, FEAIERH A CDF2 AN ENF, (1) R &5 75 RT.
B

LN2  2.60° ° $R: MAHUC=M0+ME 3.5 4.0 5.C 6.B 1.5

8. ¥ i (VTE AD LI AF=AM, 2 DEM= 2 MBN, .\ DFML NMBN, W DW= M.

OUEVER L, S5 AT R0

OIE AD K LRI — 51 £, ffE DE=BM, WTUFEIA DEME2 AMBN,  #L D= MN.

9. $8r: MG K RN 1 MIESTE ABCD, PNIE T ABCD W —15, & PYE FHY/ ABAE ADT F, %8 BCT H,
VE EG// ADRE ABT E, & CDT G ¥ AE=a, W] BE=1—a. % AF=5h, W) DF=1—»5. .'.PAZ\/aZ—I-bZ, FH. PB

=\[(—a)’+ 5, Pc=A[(1—a)+ (1—5)", PD=AJa+(1—1b)".

S PA+ PBA PCHPD=240=27[2, .. fBAHEE.

V. D

o T AR o ¢
P

B—q C

10. #2875 MN=BU+-DVN, K CDZE M, M D=BM, iEHANADN 2 /NABM, NAW N2 NAMN, W) £ MAN= £
MANZ%zM’ AN=45° .
11 8o NI )\ WA PR, &4 A A 4.

12. %45 RN, MP, AMPC2 /\BAC2 N\ BRN, W RB=MP, X.ARNM2/\PCB, W) Ri=BP, MIiVUiLIE RBPY 2&F

TVUiL, W BP/ R



